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7 Solving Sequence

A knot diagranﬂ C7 ~Clo Ci2 Co  Cg
Ideals for irreducible component#ﬂ)f Xpar
I = =4 -1, w20 a2, % - 205 1)

I=0b-1, v +u® +a+3u+1, u* +ud+3u?+2u+1)

* 2 irreducible components of dim¢ = 0, with total 69 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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5,11-4—->12->37->2—>8—>10—>1—>9 — 6 —>> C1,C5,C8
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1.
It = (ub —uf 4. 4 b—1, u® —2u% +...+a+2, u —2u%+... 4 u—1)

(i) Arc colorings

u64+2u63+'~4u2)
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(

wld + Tt + 170 + 1667 + 6u® + 5ud + u

—ubt +2u% . —3u—1
S 0 1

—uM — 6w — 1207 — 8ub —ud — 2u )

wd +5u” + Tu® + 20 +u
(—u64—|—2u63+~-~—3u—1)

w? + 4u” + 3u® — 20 + u)

ag = \ —uSt 440 4. 241
(ii) Obstruction class = —1
(iii) Cusp Shapes = —u% +2u% + ... — 10u — 3



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
1 u® +27ub + - — 1984u — 256
Co,C7 u® 0t 4 4240+ 16
C3,C4,C10 u65_2u64+___+u_1
C11
Cs,Cg, C8 wb® -5t w1
C9, C12 u® + 12u%% + -+ 4+ 1405u + 131




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 Y% +15y% + ... — 1257472y — 65536
2,07 Y% + 2795 + ... — 1984y — 256
C3,C4,C10 y65+72y64_~_.._+5y_1
C11
Cs5,Cg, C8 y65—57y64+--~—33y—1
Co, C12 Y% + 3695 + - -+ + 294081y — 17161




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v=1CS)

Cusp shape

uw = —0.176961 + 0.8345171
a= 1.40512+ 0.843711
b= 0.99803 4 1.050091

—1.61201 + 5.844271

—3.29017 — 6.410761

u = —0.176961 — 0.8345171
1.40512 — 0.843711
0.99803 — 1.050091

a =

b:

—1.61201 — 5.844271

—3.29017 + 6.410761

0.587464 + 0.6058121
1.99776 + 1.354161
1.11944 — 1.683231

u =
a =

b:

—6.38469 — 11.446901

—7.68442 4 9.118491

0.587464 — 0.6058121
= 199776 — 1.354161
1.11944 + 1.683231

u =

—6.38469 + 11.446901

—7.68442 — 9.118491

0.562023 + 0.5891761
—1.70682 — 1.575601
= —1.43980 + 1.350211

—1.08419 — 7.256401

—4.14361 + 8.684941

0.562023 — 0.5891761
= —1.70682 4 1.575601
= —1.43980 — 1.350211

—1.08419 + 7.256401

—4.14361 — 8.684941

= —0.434655 + 0.6774831
= —0.76935 — 1.400901
0.761684 — 0.5584551

—3.21792 — 0.042631

—6.95293 — 1.050861

—0.434655 — 0.6774831
—0.76935 + 1.400901
0.761684 + 0.5584551

—3.21792 + 0.042631

—6.95293 + 1.050861

—0.559917 + 0.5676941
0.51071 — 1.737941
0.802552 + 0.8952541

—4.08533 + 5.199971

—6.95238 — 6.011511

—0.559917 — 0.5676941
= 0.51071 4 1.737941
= 0.802552 — 0.8952541

—4.08533 — 5.199971

—6.95238 4+ 6.011511




Solutions to I}

V=1(vol + y=1C)

Cusp shape

0.618882 + 0.4923997
—0.690536 — 0.3342951
—0.479177 — 0.1032371

—11.32390 — 2.099341

—11.90160 4+ 3.331101

0.618882 — 0.4923991
—0.690536 + 0.3342951
—0.479177 4- 0.1032371

—11.32390 4 2.099341

—11.90160 — 3.331101

0.541988 + 0.5451651
1.05538 4 1.711171
1.65899 — 0.670001

—3.16680 — 2.605821

—8.31028 + 4.789501

0.541988 — 0.5451651
1.05538 — 1.711171
1.65899 + 0.670001

—3.16680 + 2.605821

—8.31028 — 4.789501

—0.083204 + 0.7629871
—1.47229 — 0.863931
—1.103520 — 0.4896891

3.00423 4- 2.379741

3.15751 — 4.544721

—0.083204 — 0.7629871
—1.47229 + 0.863931
—1.103520 + 0.4896891

3.00423 — 2.379741

3.15751 4 4.544721

—0.491902 + 0.5800571
—0.057631 + 1.3538401
—0.650246 — 0.2872161

0.50199 + 2.342291

—0.41176 — 4.109001

—0.491902 — 0.5800571
—0.057631 — 1.3538401
—0.650246 +- 0.2872161

0.50199 — 2.3422971

—0.41176 + 4.109001

0.628694 + 0.3574611
—0.979961 — 0.4608531
0.98668 4 1.618261

—7.11475 4 7.317671

—9.69803 — 3.178011

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
Il

0.628694 — 0.3574611
—0.979961 + 0.4608531
0.98668 — 1.618261

—7.11475 — 7.317671

—9.69803 + 3.178011




Solutions to I

V=1(vol + v=1C)

Cusp shape

= —0.573521 + 0.3965341
—1.36868 + 0.720061
0.700052 — 0.7401111

—4.58689 — 1.306301

—8.69876 — 0.724241

—0.573521 — 0.3965341
—1.36868 — 0.720061
0.700052 + 0.7401111

—4.58689 + 1.306301

—8.69876 + 0.724241

0.547064 + 0.4284841
—0.648498 + 0.866630.1
1.39053 + 0.847681

—3.51243 — 1.156871

—10.08026 + 3.043921

0.547064 — 0.4284841
—0.648498 — 0.8666301
1.39053 — 0.847681

—3.51243 + 1.156871

—10.08026 — 3.043921

0.584549 + 0.3657841
1.077210 — 0.0382461
—1.19511 — 1.338481

—1.73587 + 3.326911

—6.23751 — 2.526701

0.584549 — 0.3657841
1.077210 + 0.0382461
—1.19511 + 1.338481

> Q@ Rl @ R @ 8| Q@ 8l 2 2> © =

—1.73587 — 3.326911

—6.23751 + 2.526701

= 0.061107 4 0.6693751
a= 1.86977+ 0.927661
b= 1.256900 — 0.2935071

=
IS

—0.052808 — 1.0677301

0.522323 + 0.6885851

u= 0.061107 — 0.6693751
a= 186977 —0.927661
b= 1.256900 + 0.2935071

—0.052808 + 1.0677301

0.522323 — 0.6885851

u= 0.12768 + 1.417201

a = —0.219186 + 0.9416671 | —1.52933 + 4.666451 0
b= 0.74968 + 1.508551
u= 0.12768 — 1.417201
a = —0.219186 — 0.9416671 | —1.52933 — 4.66645] 0

b= 0.74968 — 1.508551




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= —0.549260 + 0.1408731
= —0.771450 — 0.3356651
= 0.703771 + 0.8253531

—4.80826 + 3.38006.1

—10.74337 — 4.245251

—0.549260 — 0.1408731
= —0.771450 + 0.3356651
0.703771 — 0.8253531

—4.80826 — 3.380061

—10.74337 4 4.245251

—0.397665 + 0.3745851
0.879636 — 0.3123201
—0.225733 + 0.0462921

—0.161016 + 0.9653161

—1.89057 — 5.100541

—0.397665 — 0.3745851
0.879636 + 0.3123201
—0.225733 — 0.0462921

—0.161016 — 0.9653161

—1.89057 + 5.100541

0.10989 + 1.462081
0.189540 — 1.2947501
—0.77445 — 1.439031

4.08220 + 1.013131

0.10989 — 1.462081
0.189540 + 1.2947501
—0.77445 + 1.439031

4.08220 — 1.013131

= —0.12743 4 1.478801
—0.875843 4 0.0461701
0.504534 — 0.5718921

1.48337 + 1.060971

—0.12743 — 1.478801
—0.875843 — 0.0461701

U
a
b
U
a
b
]
a
b
U
a
b
]
a
b
]
a
b
U
a
b
U
a
b

1.48337 — 1.060971

0.504534 + 0.5718921
= 0.13453 +1.499471

a= 0.60759 + 1.596191
1.18048 + 1.164991

2.82349 — 3.486541

0.13453 — 1.499471
0.60759 — 1.596191
1.18048 — 1.164991

2.82349 + 3.486541




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 0.18092 4 1.506111
—0.976025 — 0.4766881
—0.478652 — 0.3301581

—4.77664 — 4.960731

0.18092 — 1.506111
= —0.976025 + 0.4766881
—0.478652 4+ 0.3301581

—4.77664 + 4.960731

= —0.10169 + 1.529491
= 0.709783 — 0.0512601
0.019341 + 0.2655671

6.41258 + 2.642301

—0.10169 — 1.529491
0.709783 + 0.0512601
0.019341 — 0.2655671

U
a
b
U
a
b
U
a
b
U
a
b

6.41258 — 2.642301

= 0.15680 + 1.546121
2.43920 + 0.891871
1.88545 — 0.569251

3.81275 — 5.117701

0.15680 — 1.546121
2.43920 — 0.891871
1.88545 + 0.569251

> & €| & €
Il

3.81275 + 5.117701

u = —0.352512 + 0.2643581
a= 0.901458 — 0.3445871
b = —0.244395 — 0.2055121

—0.166994 4 0.9434181

—4.05068 — 5.992371

u = —0.352512 — 0.2643581
a= 0.901458 4 0.3445871
b = —0.244395 4 0.2055121

—0.166994 — 0.9434181

—4.05068 + 5.992371

u = —0.16566 + 1.551851

a= 1.25278 — 0.669681 2.98284 + 7.830551 0
b= 0.885611 + 1.0240301

u = —0.16566 — 1.551851

a= 1.25278 + 0.669681 2.98284 — 7.830551 0
b

0.885611 — 1.0240301




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.14397 4 1.559901
—0.870671 + 0.7988701
—0.814944 — 0.4528401

7.68999 4+ 4.655431

—0.14397 — 1.559901
= —0.870671 — 0.7988701
= —0.814944 + 0.4528401

U
a
b
U
a
b

7.68999 — 4.655431

0.16814 + 1.559871
—2.69089 — 0.221631
—1.62903 + 1.347951

6.09318 — 9.920091

0.16814 — 1.559871
—2.69089 + 0.221631
—1.62903 — 1.347951

6.09318 + 9.920091

0.17903 + 1.565371
2.62610 — 0.203651
1.23470 — 1.723001

0.8595 — 14.25921

0.17903 — 1.565371
2.62610 + 0.203651
1.23470 + 1.723001

0.8595 + 14.25921

0.00918 + 1.577031
2.49998 + 0.146031
1.54857 — 0.463191

7.58996 — 1.274051

0.00918 — 1.577031
2.49998 — 0.146031
1.54857 + 0.463191

U
a
b
U
a
b
U
a
b=
U
a
b
U
a
b
U
a
b

7.58996 4 1.274051

= —0.12188 4 1.586441
0.279040 — 1.3176001
0.885103 — 0.4215801

4.43394 + 1.996331

—0.12188 — 1.586441
0.279040 + 1.3176001
0.885103 + 0.4215801

U
a
b
U
a
b

4.43394 — 1.996331
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Solutions to I7*

V=1(vol + y=1C)

Cusp shape

= —0.01577 4 1.593351
= —2.24569 — 0.799341
—1.46124 — 0.343221

10.99110 4 2.698551

—0.01577 — 1.593351
= —2.24569 + 0.799341
—1.46124 + 0.343221

10.99110 — 2.698551

= —0.03506 + 1.608181
= 2.00100 + 1.338141
1.26274 + 1.005871

6.66598 + 6.541371

—0.03506 — 1.608181
2.00100 — 1.338141
1.26274 — 1.005871

U
a
b
U
a
b
U
a
b
U
a
b

6.66598 — 6.541371

u= 0.266227
a=—291703

b= 0.922923

—2.12035

—4.69260

11



ILIy=®b-1, v +u?*+a+3u+1, u*+u®+3u®>+2u+1)

(i) Arc colorings

<

<

( 2

(M1;5;+J
- (—u —u1—3u—1>

<

(

(

<

(

w41
wWHur+2u+1

—ud —u? —3u
ag = 1

(ii) Obstruction class =1

(iii) Cusp Shapes = —3u?® — 3u? — 10u — 8
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1, o, 07 u'
C3,Cq v+ ud +3u+2u+1
Cs, Cg (u — 1)4
Cs (u+1)*
€ ut —ud 4wt 1
€10, C11 ut —ud 4 3u? —2u + 1
C12 ur+ud +u+1

13



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Ct y4
€3, C4, C10 Y5 T 2y 4 1
C11
Cs5,Co, C8 (y—1)*
co, C12 v Y+ 3+ 2y + 1

14



(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

u = —0.395123 4 0.5068441
a= 0.043315 —1.2271901 | —1.85594 + 1.415107 | —4.47493 — 4.188401
b= 1.00000

u = —0.395123 — 0.5068441
a= 0.043315+ 1.2271901 | —1.85594 — 1.415101 | —4.47493 + 4.188401
b= 1.00000

u = —0.10488 + 1.552491
a= 0.956685 — 0.6412001 5.14581 4 3.163961 | —2.02507 — 3.476091
b= 1.00000

u = —0.10488 — 1.552491
a= 0.956685 4+ 0.6412001 5.14581 — 3.163961 | —2.02507 + 3.476091
b= 1.00000

15



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 ut (u® +27ub + - — 1984u — 256)
2, C7 ut (ub 4+ ub 4 - 4 24u + 16)
C3,Cy (u* +ud 4+ 3u + 2u+ 1) (u® — 2u% + - fu—1)
Cs, Co (u— D)W —5u 4+ u+1)
c8 (w4 D)MW —5uf* + - Fu+1)
9 (u — u® +u? 4+ 1) (u® + 12u% + - -~ 4+ 1405u + 131)
€10, €11 (u —u® 4+ 3u? — 2u+ 1) (u® — 2u% + - fu—1)
c12 (u* + u® 4+ u? 4+ 1) (u® + 12u% + - -~ 4+ 1405u + 131)

16



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 y*(y%° 4 15y% + - — 1257472y — 65536)
¢, 07 v (y% +27y% .- — 1984y — 256)
c3,C4,2(1) (y4 + 5y3 + 7y2 + 2y + 1)(y65 + 72y64 + .45y — 1)
Cs5,C6, C8 (=) =57y +--- =33y — 1)
Co, C12 (y* + 9 + 3y + 2y + 1)(y% + 36y%* + - - - 4 294081y — 17161)
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